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Question Number : 1 Question Id : 973597758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following CPU registers stores the results of intermediate arithmetic and logic operations?

Options:
1 « Accumulator

5 % Program Counter
- % Memory Address Register

4 B Memory Data Register

Question Number : 1 Question Id : 973597758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

Question Number : 2 Question Id : 973597759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
With respect to computer system. *“bits™ stands for:

Options:
, w» Bi-Digits

-  Binary Digits
- » Binary Transistors

4 % Bipolar Transistors

Question Number : 2 Question Id : 973597759 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 3 Question Id : 973597760 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following memory needs periodic refreshing?

Options:
1 % Static RAM

> of Dynamic RAM
= & DVD
4 % ROM

Question Number : 3 Question Id : 973597760 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 4 Question Id : 973597761 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The speed of CPU is measured in:

Options:
, « Gigahertz (GHz)

> % Mbps
5 = Gigabyte (GB)
4 % Megabyte (MB)

Question Number : 4 Question Id : 973597761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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- » Fnemarse (GB)
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Question Number : 5 Question Id : 973597762 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following categories of mouse relies on infrarad or radio waves to conunmnicate with the computer?

Options:
1 % Mechanical mouse

> % Optomechanical mouse

5 % Optical mouse

4 « Cordless mouse

Question Number : 5 Question Id : 973597762 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 6 Question Id : 973597763 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a light-sensitive device used to manipulate information on a computer sereen by touching the
sereen directly?

Options:
L Light Pen

- #% DBarcode Reader
5 w Joystick

4 % OCR

Question Number : 6 Question Id : 973597763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 7 Question Id : 973597764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements about Solid-State Drive (SSD) is FALSE?
Options:

1 # SSD is also known as Solid-State Disk

-~ % SSD uses integrated circuit assemblies as memory to store data persistently

- « Like Hard Disk Drives (HDDs). SSDs have moving mechanical components

4 % SSDs are costlier than HDDs

Question Number : 7 Question Id : 973597764 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 8 Question Id : 973597765 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Minimum number of bits needed to generate unique address for each 1-byte blocks of a 4 GB RAM is:

Options:
1 ® 16

> B 24
T B 28

4 32

Question Number : 8 Question Id : 973597765 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 973597766 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A program written in assembly language or any high-level language is called:
Options:

1 « Source code

> % Object code

=z % Executable code

4 % Binary code

Question Number : 9 Question Id : 973597766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 10 Question Id : 973597767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements about Operating System is FALSE?

Options:
1 % The Dperatjng System acts as the resource manager

> % The Operating System provides an interface between user and hardware
-  Ihe Operating System is a special-purpose application software

4, % The Operating System makes the computer system convenient to use

Question Number : 10 Question Id : 973597767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 11 Question Id : 973597768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following CPU scheduling techniques assigns CPU to different processes in a circular manner?

Options:

1 + Round Robin
> % FCFS

T B SIF

4 w Priority

Question Number : 11 Question Id : 973597768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 12 Question Id : 973597769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is NOT a valid level of security provided by the Operating System to its users?
Options:
, % Fileaccess level security

o w System level security
-  Organization level security

4 % Network level security

Question Number : 12 Question Id : 973597769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 13 Question Id : 973597770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following allows transferring data to and from memory without the intervention of the CPU?
Options:

, w Buffering

-~ % Spooling

5 » Caching

i P Direct Memory Access (DMA) mechanism

Question Number : 13 Question Id : 973597770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 14 Question Id : 973597771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Consider a Hard Disk consisting of 8 recording swfaces, wherein each surface 15 divided into Tracks and each Track is
divided into & Sectors. If there are total 16 Cvlinders and each Sector consists of 4 Blocks of 256 bytes each. then the
storage capacity of the Hard Disk is;

Options:

1 ® 256 KB

> % 512KB
5 ¢ 1MB
4 % 4AMB

Question Number : 14 Question Id : 973597771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| % 256KB
, » 512KB
- v 1MB
. = 4MB

Question Number : 15 Question Id : 973597772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the minimum unit of storage that is read from and written to a disk by a disk driver?

Options:
1 ® Sector

> « Block
3 % Track
4 % Cylinder

Question Number : 15 Question Id : 973597772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 16 Question Id : 973597773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following does not appear as a property of files residing in Recycle Bin?

Options:
1 % File creation date and time

- % File type

File deletion date and time

®

=

4 « File last access date and time



Question Number : 16 Question Id : 973597773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 17 Question Id : 973597774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
With respect to computer booting process, the POST stands for:

Options:
1 « Power-On Self-Test

5 #® Process Of System Test
=z % Process Of Self-Test
4 % Power-On Systematic Test

Question Number : 17 Question Id : 973597774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 18 Question Id : 973597775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following Windows shorteut keys can be nsed to delete a file or folder pennanently without placing it into
Recyele Bin?

Options:
1 ® Alt+Delete

# Alt+F4
o Shift — Delete
% Ctrl + Delete

d SRl LR



Question Number : 18 Question Id : 973597775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 # Alt + Delete
> % Alt+ F4
= « Shift + Delete

4 % Cirl + Delete

Question Number : 19 Question Id : 973597776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a Windows tool that can be used to enable/disable startup programs?

Options:
1 # ChkDsk
> % Cmd

5 » RegEdit

4 « MSConfig

Question Number : 19 Question Id : 973597776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 # ChkDsk
- % Cmd

» » RegEdit
4 v MS3Config

Question Number : 20 Question Id : 973597777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following keeps vowr session in memory and puts the computer in a low-power state so that you can

guickly resume working?
Options:

1« Sleep

> % Logoff

= % Restart

4 % Hibernation



Question Number : 20 Question Id : 973597777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 21 Question Id : 973597778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Shortcut key to minimize all open windows and activate the Desktop is:

Options:
1 ® Alt+D
> % Cul+D

5 « windows key + D
4 ® At+Cul+D

Question Number : 21 Question Id : 973597778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, % Alt +D
. % Ctrl+ D

5  Windows key + D
4 % Alt + Ctrl+D

Question Number : 22 Question Id : 973597779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the follvwing commnancs can be nsed to test the conpection between the local machine and a remote address or
machine?
Options:
|  Ping
> % vmstat
3z % free

4 8 ﬁp



Question Number : 22 Question Id : 973597779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T § F #i9 8@ F3 7% 7339 31 THe 38 o ;i F 99 77y &1 59 F &0 g3
T AT Far &7

Options:

1. v Ping

- x vmstat

2 # free

4 W ﬁp

Question Number : 23 Question Id : 973597780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following Control Panel items can be used to install/uninstall software on your PC?

Options:

| « Programs and Features

-~ u Display
5 % Appearance and Personalization

4 % User Accounts

Question Number : 23 Question Id : 973597780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 24 Question Id : 973597781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The proportional relationship between the width and height of a computer display is called:

Options:
1 ® Pixel

> % Size

- % Resolution



4  Aspect Ratio

Question Number : 24 Question Id : 973597781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 25 Question Id : 973597782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of the following Web Browsers uses “Incognito Mode™ for private browsing?
Options:

1 « Chrome

5 #® Internet Explorer

5 % Opera

4 % Mozilla Firefox

Question Number : 25 Question Id : 973597782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 26 Question Id : 973597783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is a Microsoft Windows utility that allows to see all available characters and Unicode in each of
the fonts imstalled on the comptes?
Options:
| % Sync Centre

> % Resource Monitor



5  Character Map

4 % System Information

Question Number : 26 Question Id : 973597783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 27 Question Id : 973597784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
While searching a file through pattern matching. the wild card character “*’ stands for:

Options:

Exactly two characters
i 4 &
> # One or more characters
3 « Zero or more characters

4 » Asingle character

Question Number : 27 Question Id : 973597784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 28 Question Id : 973597785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The default extension of the files created through Windows WordPad tool is:
Options:

1 & atf



> % .docx
z ® At

4 % .odt

Question Number : 28 Question Id : 973597785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1.« rif
- % .docx

4 % .odt

Question Number : 29 Question Id : 973597786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following DOS comumands is vsed to copy one or more files and/or folders from one location to another
location?
Options:

| % Wceopy

5 of Xcopy
- % Dcopy

4 % Fcopy

Question Number : 29 Question Id : 973597786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, = Wcopy

5 Xcopy
5 % Dcopy
4 = Fcopy

Question Number : 30 Question Id : 973597787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following files needs Adobe Acrobat Reader or Writer to get open?
Options:

, w» Filezip



o o File.pdf

z # File.doc
4 » File.ps

Question Number : 30 Question Id : 973597787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
, = File.zip

.  File.pdf

= # File.doc
4 « File.ps

Question Number : 31 Question Id : 973597788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following features is supported by FAT32 file system?

Options:
1 ® Cmnpres'smn

> % Fault tolerance

- % Encryption

4 « Conversion

Question Number : 31 Question Id : 973597788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 32 Question Id : 973597789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
NTFS 15 a proprietary file svstem developed by . which nses as disk partition identification code,
Options:

1« Microsoft, 07h

5 % Microsoft, 08h



; » IBM,07h

, » IBM.08h

Question Number : 32 Question Id : 973597789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| » FEFEGE, 07h
, » HTSHETE, 08h
. « HEECH, 07h
, x HTSETH, 08h

Question Number : 33 Question Id : 973597790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS-Word 2007, which of the following is the default view for opened documents?

Options:
| « PrmtLayout

> % Wweb Layout

z % Outline
4 % Draft

Question Number : 33 Question Id : 973597790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 34 Question Id : 973597791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The default alignment of texts in a Word document is:

Options:
, w Justify



> u Right
3 « Left
4 % Centre

Question Number : 34 Question Id : 973597791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 35 Question Id : 973597792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The changes lower-case letters to upper-case letters and vice-versa.

Options:
, « Toggle case
-~ % Lower case
5 % Upper case
4 % DSentence case

Question Number : 35 Question Id : 973597792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 36 Question Id : 973597793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The size of A4 page is:
Options:

1 % 21.59 cm x 27.94 cm



~ % 21.59 cm x 29.7 cm
= ® 21cmx27.94 cm

4 ¢ 2lcmx 29.7 cm

Question Number : 36 Question Id : 973597793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ad S FT TES grar 2

Options:

, % 21.59 JHAT « 27.94 [T
> % 21.59 THAT x 29.7 TAY
5w 21 T < 27.94 I

4 v 21 B x 29.7 A

Question Number : 37 Question Id : 973597794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following menu options can be used to switch the pages between portrait and landscape layouts?

Options:

1 +« Orientation
- % Direction
3 % Theme

4 % Margins

Question Number : 37 Question Id : 973597794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 38 Question Id : 973597795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following paragraph fommatting options lels vou specify the amount of space (o leave belwen the left and
the right page marging and the paragraph?

Options:

, % Spacing



- % Line spacing

% « Indentation

4 u Alignment

Question Number : 38 Question Id : 973597795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 39 Question Id : 973597796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT an open-source Spreadsheet?

Options:
; » Google Spreadsheet
> « MS-Excel

5 » KSpread

4 % OpenOffice Calc

Question Number : 39 Question Id : 973597796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
foafafaT & O #iF 3U=a-arg oefic 78 872
Options:

i WF@E’Q?IT—:

> v THATH-TFHS

5 % HEIS

4 % HITAHIRT S

Question Number : 40 Question Id : 973597797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



The absolute reference of a cell in an Excel fonmmla is made by the addition of character before the column
reference. the row reference. or both

Options:
I @
o R =
3¢ $
4 % &

Question Number : 40 Question Id : 973597797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, & @
> % H
3¢ 5
4 % &

Question Number : 41 Question Id : 973597798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If Al through A4 are empty cells. then the result of the Excel expression =SUM(A1:A4) is;

Options:

1.+ 0

> % HNAME?
5 & HENUM!

4 % #HREF!

Question Number : 41 Question Id : 973597798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

afe A1 & A4 Nag T &, ar voder THEor =SUM(A1:A4) &7 AT 2|
Options:

1.« 0

> = #NAME?

5 = #NUM!

4 » #REF!

Question Number : 42 Question Id : 973597799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following statements is FALSE?
Options:
; % A Workbook may contain more than three Worksheets

> #% The Worksheets can be renamed

3
After deletion of the first column of a Worksheet. the address of the first cell of the Worksheet will be B1

4 % The default alignment for texts in a cell is “Left”

Question Number : 42 Question Id : 973597799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Tafaf@g & O #iF 91 F39 35T &7

Options:
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Question Number : 43 Question Id : 973597800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The display value of the cell containing the Excel expression =9+8%2+4/2 is:
Options:

1 ® 19

o of 27

T B 41

4 % 14.5

Question Number : 43 Question Id : 973597800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

it @9 7 BT 910 vome §HEE0T =9+8%2+4/2 Fr Breer AT g
Options:

;= 19
> o 27
= % 41
4 % 145

Question Number : 44 Question Id : 973597801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Let a formula “=N2/$NS$3” is stored in the cell Al. If Al is copied and pasted into the cell C3, then the content
(formula) of C3 is:

Options:

; % =N2/SN$3
> % =P2/SNS3
s « =P4/$N$3

4 % =N4/SN$3

Question Number : 44 Question Id : 973597801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A= R O A1 H GEET “=N2SNSIT TR 1 AR A1 & & & A C3 # 9 w1 B s A
B C3 7 oae] (FE) |

Options:
. = =N2/$N$3
, % =P2/$NS3
2 « =P4/$N$3
. % =N4/SNS3

Question Number : 45 Question Id : 973597802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following Excel features can be used to show arrows that indicate what cells affect the value of the
currently selected cell?

Options:
1 « Trace Precedents

5 % lrace Dependents
5 % Error Checking

4 % Watch Window

Question Number : 45 Question Id : 973597802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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4 % dr f&e



Question Number : 46 Question Id : 973597803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The display value of the cell containing the Excel function =CEILING(10.7. 9) is:

Options:
1. % 9

o R 10
=z W 11
4 18

Question Number : 46 Question Id : 973597803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

ey 3o # T 710 vede wE =CEILING(10.7, 9) &7 2T A eIl
Options:

1 % 9
> R 10
o ® 11

4 18

Question Number : 47 Question Id : 973597804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a disadvantage of Internet?

Options:

. % Spamming

» % Cyber Terrorism
= « EBE-Commerce

4 % Cyberbullying

Question Number : 47 Question Id : 973597804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

frfof@a & @ Fia 71 $eTie &7 JHaT 74T 87
Options:

1 #® w

s  S-HIAY

, x TS dfgarst (3f30)

Question Number : 48 Question Id : 973597805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
With respect to World Wide Web. the full-form of HTML is:

Options:
|« Hyper Text Markup Language

- % High-resolution Text Markup Language
- » Hyper Text Manipulation League

4 w Hyper Text Maintenance League

Question Number : 48 Question Id : 973597805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 49 Question Id : 973597806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following components of Microsoft Interuet explorer provides frequent by updated contents published by a
websile?

Options:

1 # Refresh

-~ » History
3 # Favorites

4 « RSS Feed

Question Number : 49 Question Id : 973597806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 50 Question Id : 973597807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following contans links to other websites and presents miftrmation fromn diverse sources moa umified way?
Options:
1 #% Website
> « Web Portal
= % URL

4 % Web Server

Question Number : 50 Question Id : 973597807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 51 Question Id : 973597808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the most common protocol used for sending e-mails between two or more servers?

Options:
, % FTP

> % UDP
- % HTTP
4 & SMTP

Question Number : 51 Question Id : 973597808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 52 Question Id : 973597809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Which of the following IP address classes uses 8 bits for network ID and 24 bits for host ID?
Options:
1 « Class-A
- % Class-B
~# Class-C

3
4 # Class-D

Question Number : 52 Question Id : 973597809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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READING COMPREHERMSTONM
Section Id : 973597120
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 1
Number of Questions to be attempted: 1
Section Marks: 5
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 973597120
Question Shuffling Allowed : Yes

Question Id : 973597810 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No

Question Numbers: (53t057)
Juestion Label - Comprehension



Read the following passage and answer the questions given after
it.

‘Surf Excel - Pakistan” has come up with a heart touching
advertisement which is making the crowd on both sides of the border
to go in a state of awe. The super cute kid in the advertisement and
his gesture of helping out the old samosa and jalebi vendor is so

endearing, that it imparts a sense of prevailing goodwill and
humanity in the people watching the ad.

The ad comes as a campaign which has been brought into effect in
the month of Ramzan by ‘Surf Excel Pakistan’.

The whole set up is shown like a Ramzan charged atmosphere with
people roaming around in a market, shopping and eating after the
evening call of prayer when this small child (all tidily dressed) who
just caught up with his friends, spots an old samosa and jalebi vendor
whose vending cart breaks down and this boy along with his friends
marches towards the cart and starts picking up and placing the
samosas in the fold of his kameez and marches outside in the sight of
main crowd with the samosas and starts selling them.

But in the process the boy spoils his clothes with stains of oil and
chutney and on being spotted by his mother, receives a smile because
of the noble act of helping which he selflessly did which also sums
up the definition of Ramzan.

This is the Holy month of worshipping and improving as humans,
and helping others is considered to be a kind of worship is the
essence of the advertisement which compliments the beauty of the
month of Ramzan.

“Helping someone is also an act of faith. And if your clothes get
stained while helping someone, then stains are good™, says the
commercial.

Ramezan is the ninth month of the Islamic calendar, and is observed
by Muslims worldwide as a month of fasting to commemorate the
first revelation of the Quran to Muhammad.

Sub questions

Question Number : 53 Question Id : 973597811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The phrase both sides of the border refers to:

Options:
, w India and Nepal
> « India and Pakistan

- » Pakistan and Afghanistan



, = Pakistan and Nepal

Question Number : 54 Question Id : 973597812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Surf Excel advertisement appeals to people
because:

Options:

1 # it illustrates the excellence of Surf Excel.

- % it has caught the attention of the media.

o o it brings alive the message of Ramzan.

4 = the little boy in the advertisement is cute.

Question Number : 55 Question Id : 973597813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Why does the child carry the samosas in the fold
of his kameez (shirt)?
Options:
. w Tosell them and earn money for himself.

- % To eat them.

5  To sell them for the old samosa and jalebi vendor.

4 % Toclean up the street.

Question Number : 56 Question Id : 973597814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How does the little boy’s mother react when she
sees his clothes stained with oil and chutney?
Options:

1 # She scolds him.

o  She gives him a smile.
= % Washes his clothes.

4 % Remains indifferent.

Question Number : 57 Question Id : 973597815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The ad of Surf Excel Pakistan is relevant in:
Options:

, w India only.

- u Pakistan only.



5 o €Very country.

4 % all Islamic countries.

Question Id : 973597810 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cestion Label | Comprehiension
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Sub questions

Question Number : 53 Question Id : 973597811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 54 Question Id : 973597812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 55 Question Id : 973597813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 56 Question Id : 973597814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Question Number : 57 Question Id : 973597815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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OUANTITATIVE APTITULDE
Section Id : 973597121
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 973597121
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 973597816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The average salary of 10 employees in an office is Rs. 10,000. If the salary of the CEO is added to the sum of the
salaries of 10 employees. new average salary would be Rs. 15000. What is the salary of the CEO?



Options:
. % Rs. 45000

> % Rs. 50000
= « Rs. 65000
4 % Rs. 55000

Question Number : 58 Question Id : 973597816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| % T.45000
., % . 50000
- v . 65000
. % ¥. 55000

Question Number : 59 Question Id : 973597817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

A dishonest shopkeeper claims to sell sugar at the cost price. However. he uses a weight of 750g instead of 1kg. His
profit percentage 1s;

Options:

1 % 22.22%

z ® 29,
4 i

Question Number : 59 Question Id : 973597817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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1 FaA & 3T &1 91 750 WA Al FT 3TART HIGT g1 3T e
gfera &ar g2

Options:

| % 22.22%
s, % 20%

2 = 29.11%
L v 33.33%

Question Number : 60 Question Id : 973597818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Alcash completed 60%: of a worlc in 12 days. and the remaining 40% of the work he completed with help from Prakash
in 4 davs, What i3 the nunber of days Prakash will take if he has to do 100% of the work by himself?

Options:
, % 10days

- w 15days
5  20days

4 % 25days

Question Number : 60 Question Id : 973597818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 61 Question Id : 973597819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e present ages of A and B are o the ratio of 4 @ 30 004 years ago, the ratio of their ages was 2 1. the present age of A 1s:
Options:
| Syears
> % 10 Yyears

5 % 12 years

4 % 15 years

Question Number : 61 Question Id : 973597819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 62 Question Id : 973597820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Study the following table carefully and answer the question given below it.

Shows (Number in hundreds)
Cities Dance Music Drama | Stand-up | Mimicry
Comedy
M 15 21 24 0.8 0.9
N 12.4 13 26 2 0.5
O 5.7 8 12 0.3 0.2
P 11.3 6 18 1 15
Q 17 12.4 11 3 0.4
R 14 10.5 0.8 0.7 )

‘What is the total number of stand-up comedy shows held in all the cities together?

Options:
;. ® 820

= % 740
4 % 810

Question Number : 62 Question Id : 973597820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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HIAE
M 15 21 24 0.8 0.9
N 12.4 13 26 2 0.5
O 5.7 8 12 0.3 0.2
P 113 6 18 1 1.5
Q 17 12.4 11 2 0.4
R 14 10.5 9.8 0.7 0.1
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Options:
. % 820
, % 740

2 « 780



4 % 810

Question Number : 63 Question Id : 973597821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the area of a triangle whose sides are three consecutive number and perimeter is 42 cm.

Options:
T
1 « 84 cm-”

y
- # 42cm”

.
= # 63 cm”

i 2
4 % 52.5 cm®

Question Number : 63 Question Id : 973597821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: O
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How many such “K’s are there in the given arrangement each of which is immediately preceded by a *I and followed
by a vowel?

AHEDKEIDSEWTUDKOEFDKFDSW
Options:

1 ® One

> o Two
3z % Three
4 % More than three
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&r 712 I ET A 0 foaw K & s 8% qga D' § 3t 8 3¢ # T 27
ARBDRKEIBDBSKWTUDEKEOGEFDKFEBSW

Options:
1. % Teh

z.cfa;r
E.Wm
4 % el § FIET
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Correct: 1 Wrong: 0
In a certain code, ‘ENGLISH’ is writtenn as *GPINKUJI’. How i1s ‘TARGET" written in that code?

Options:
; % VCITGV

» % UIFGCU
s % TUFVTS
4 « VCTIGV
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Options:

, % VCITGV
. » UIFGCU
2 ® TUFVTS
. v VCTIGV
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hiohit walks 20 m north, talkes a left turm and walks 10 m., then he talkes a right fun and walks 20 m. again he takes a
right turm and walks 19 m. How far is Molut now from the starting point?

Options:
1 % 20m

>~ % 30m
= o 40m
4 % 25m
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Options:

; % 20 HrEX
> % 30 HIEX
= « 40 AT
4 % 25 AT
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Rajan is the brother of Sachin and Manick is the father of Rajan. Jagat is the brother of Priva and Priva is the daughter
of Sachin. Who is the uncle of Jagat?

Options:

| « Rajan

> # Sachin

= % Manick

4 % None of these
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I inesanes “ackd (o7, Tioeans altiply by, T means ‘sublvact froon® and K memns Cdevide by then 30K 2Q 316 T53=7
Options:

1 ® 18

. 28

z ® 1

4 % 103
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Options:

; = 18
o o 28
z % 31
4% "H03
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Find the missing character in the following figure.

Options:
1.4 9
-~ % 18
z % 24
4 ® 27
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The office of the U.N. General Assembly is in:

Options:
1 % Vienna

> % Paris
2 « New York
4 % Zurich
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When is World Blood Donor day. recognized by the UN is observed?

Options:
1 #% December 11

> % July 11

z % November 25

4 « June 14

Question Number : 71 Question Id : 973597829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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w0 T 11
o ® 33311%‘1‘1
5 % #gaT 25
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FIFA World Cup 2014 was hosted by:

Options:
| % Germany

~ % France
5 % Argentina

4 « Brazil
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Correct: 1 Wrong: 0
The first woman to get the Bharat Ratna Award is:

Options:
1 # Mother Teresa

> « Indira Gandhi

- % Lata Mangeshkar
4 % Sarojini Naidu
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Correct: 1 Wrong: 0
Moortidevi Award 1s given annually in which of the following fields?

Options:
1 « Literature

> % Film
=z % Journalism
4 % Music
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Question Number : 75 Question Id : 973597833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who is the author of the book ‘The Rights of Man’?
Options:
, % Thomas Hardy

> % Thomas Mann
= % Thomas Moore

4 « Thomas Paine
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Science has given numerous useful gifts to mankind. But, it becornes a curse, if used by unscrupulous hands.
Experts believe that science has vested man with the powers of the gods. But, if these powers are used in an
improper direction, they may result into misery and destruction. Thus, it can be referred to as mother as well
as a step-mother of the entire hurman race. In the modern age of today, science has been exploited by the
power-hungry men, in order to use it in warfare. It has given them the weapons, which can put the whole
world to an end in the twinkling of an eye. Thus, the wars have become a thousand times bloodier than any of
the greatest wars ever fought on the earth. But, science can newver be blamed for this. It is the modern man,
who uses this vast power to bring rmisery for his fellow beings. In the beginning of the world, men used to fight
with the help of stones and sticks. 4 little later, they started using bows and arrows, which were replaced by
swords, axes, daggers, and spears. Horses and elephants were used to carry the fighting soldiers. Also,
whenever there was a war, not more than a few hundred persons were killed or wounded on either side. As
civilization strengthened, wars became more and more horrible. With the advance of science, gun powder was
discoveraed. This gave rise to the use of guns and cannons in the war. Further, with the invention of airplane,
the movement of soldiers became easy and quick. This made wars quite terrible and they were now taking a
heawvy toll of life and property. Modern era of science has made things even worse. Today, marn is equipped
with dangerous weapons of destruction. He can cause large scale deaths and devastation. The atom bombs
dropped on Hiroshima and MNagasaki, in the Second World War is the perfect example to justify this. But, all
this has taught no lesson 1o man. The bombs produced today are thousand times deadlier than the bombs
dropped on Hiroshima and Magasaki. Apart from the borrbs, the atomic submarine, deep penetration
aircrafts, guided missiles and poisonous gases have made the wars more ferocions and life threatening.
Studies have often estimated that the USA, Russia and many other countries have huge stockpiles of nuclear
weapons that can destroy the whole world in a matter of minutes. Thus, if a world war breaks out, it will
certainly be the last war to be fought by humanity. It is high time that the warmorngers talke a vow to rever
wage a war. Let them make this world heave of peace, free from wars and hatred.

Restricted/ Unrestricted: Unrestricted
Paragraph Display: Yes

Evaluation Mode: Non Standard
Keyboard Layout: Inscript



